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Instructions :

(1)
(i)

(iii)

(iv)

(v)

(Vi)

All questions are compulsory.

Question Nos. 1 to 4 are objective type questions. Each question carries.
S marks.

Question Nos. 5 to 7 are very short answer type questions. Word limit is
approXimately 30 words to answer. Each question carries 2 marks.

Question Nos. 8 to 10 are short answer type questions. Word limit is
approximately 75 words to answer. Each question carries 3 marks.

Question Nos. 11 to 15 are long answer type questions. Word limit is
approximately 120 words to answer. Each question carries 4 marks.

Question Nos. 16 to 18 are long answer type questions. Word limit is
approximately 150 words. Each question carries 5 marks.

(vil) Question Nos. 5 to 18 have internal choice.

(viii) Draw neat and labelled diagrams.
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Fill in the blanks :

(i) Which fruits develop without fertilisation are called '

(ii) Chromosomal theory of inheritance is given by __and Theodore
Boveri.

(iii) Capacity to generate a whole plant from any Celllexplants is called

(iv) Each restrictig_n endonuclease recognises a specific ' in the
DNA. e N

(v) The Amazon rain forest is so huge that it 1S called the _

\%
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Choose the correct &ptions :
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1x5=5

(i) Kingdom Fungi reproduces asexually by :
(@) Fission,# (b) Budding
(c¢) Genfmule (d) Conidia
(i) Which is the golden period of Dinosaurs or Reptiles ?
(a) Mesozoic (b) Coenozoic
(¢) Azoic (d) Palaeozoic -
(iii) Cirrhoris of liver is caused by :
(a) Fat (b) Vitamins
(c) Tobacco (d) Alcqﬁolism
(iv) Bt toxin is produced by :
(a) Brecikar Nepus (b) Bacillus Thuringiensis
(c) Azola | (d) Rizobium
V) Environmental‘Protection Act was passed in : B
@ 1986 b 1974
(c) 1968 (d) 1981 |
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Answer in one word / sentence :
(1)  Name the process of release of ovum from grafian follicle.

(11) The name of DNA segment which éynthesized polypeptide chain.

(11) Name the codon which code -methionine.

(iv) What we called rearing of fishes ?

(v) Methods for controlling insects/weeds by microorganism called

4 T S A 1x5=¢
(a) IUCD (1) b
(b) wRITHI e
() Frem fugafar @) 10% fram
(d) = b SR 4) ®E T
(e) Wil FATE (5) g

(6) e
Match the columns :
(a) IUCD (1) Melanism
(b) Mutualism (2) Humulin |
(c) Biston bitularia (3) 10% Law
(d) Man made Insulin ~ (4) Copper T
(¢) Energy Flow (5) Lichens

(6) Rizobium
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Give the reason the hyman testes are situated outside the Abdominal Cavity.
sy / OR
R ™ T w7
What is medical termimation of pregnancy ?
IS TH R Fed ¥ 7 ©H saeE AT | 2
What is somatic hybridisation ? Give apyexample.
Jqyar / OR
WigeArsT & onife #eww fafaw |
Write economic importance of Spirulina:
:
S emad &1 ared-fafey | 2
What is Biomagnification ?
sern / OR
3 fafrge % 3w weT ¥ @ & o fafew |
Write the names of levels of biological _gfganjsation of biodiversity.
mﬁam%?mﬁﬁﬁawwwmm' 3

What is parturition ? Write the name ‘of hormone which induceds
parturition. http://www.mpboardonline.com

s / OR

e fafy @

Define amniocentesis Pprocess.
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9 wﬁaﬁmrmﬁﬁvﬁa(wmﬁs&m% ! T Swifiar fafeg |

What is Genétically Modified Organism (GMO) ? Write its importance.
S / OR

IEAEE B G fofew |

Write short note op Biopyracy. ’

10 WM W@ O wEren g k7
What is In-Situ conse;rvatibn and Ex-situ conservation ?
| sYyar / OR
U TRE g9 % A ¥ fifag |

Write about greenh house effect.

11° U disq @ ¥ 7 db oMU & wiE W |
‘ What is Operon-model ? Describe structure of Lac Operon.
suar / OR
DNA ¥ mRNA % fmfor &t e fafr & o= faRag

Describe the process of mRNA synthesis by DNA.

12 gue od wEgRg e § e fafag |
- Differentiate between Homologous and Analogous organs.
I / OR
TR T FoRmrhae § ofdt fafag |
. Differentiate Lamarckism and Neo Lamarckism.
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16

AT & Sfyerg o6 @ T @R fafae
Write the life cycle of Plasmodium with diagram.

@/ OR
uﬁraﬁweﬁaﬁ‘rm@mmm’ru

Describe the structure of Antibody with labellgg,diagraﬁ‘i‘f %

Lo

qiEd 99w ?Wmmﬁﬁawaﬁw% ?
What 1s Sewage ? In which way can Sewage be harmful to us ?

&Yt / OR

mmammaﬁaww%mmaﬁaﬁg@w%M|

What are the key dlfferences between prlmary and secondary sewage treatment ?

fdem. w1 Wi ot REoaRa BT

Describe briefly PCR \}uh diagram.

| / | sl / OR
sruee dETEA &1 fo Afeq d@fra quiw difg 1

Describe briefly downstream processing with diagram.

safes wa P T ¥ efax faRew |

Differentiate between Asexual and Sexual reproduction.
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Explain the law of dominance usigg a monohybrid cross.
s / OR

wﬁﬁﬁﬁmﬁawﬁaﬁﬁaﬂhmlﬁuﬁetﬁ%ﬁﬁmw
T WAl S Ia -Edn |

-

Explain the inheritance of haemégﬁllia when diseased father and normal
mother will produce children.

q@mﬁr@fﬁmwﬁa@fmﬁaﬂawﬁﬁaﬁm | (@15 6
Write morphological adaptation iré:) Xerophytes plants. (any 6)

gt / OR
el Al H CuE] aﬁﬁm |
Explain Food Chain.



